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@® 100, 17,1632,10000, 1.632 @ 100,17,1632,1000, 1.632
@10, 17,1632,1000, 1.632 @ 100,17,1632,1000,16.32

® 10,170, 1632, 1000, 16.32

3 17 32 1632
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ot2bA 10, 17, 1632, 1000, 1.632 LYt}

= 1.632




2. Fulold LAY AWE k=7t 4m , AZ7H L8m 9 ALY B
Utk o] Aol Yol 9 m? A T5hAL.

4% 1.8 =7.2(m?)




3.  HESARtstAL.
783.1 + 783.1 + 783.1 + 783.1 + 783.1 4 783.1 + 783.1

> E.

[> HE: 54817

783.14-783.1+783.14-783.1+783.14+-783.1+783.1 = 783.1X7 =
5481.7




4. ©hg F T 40 Fol g 2 AL ol AU

® 0.035 x 12.6 @ 0.035 x 126 ® 3.5%x1.26

@ 0.035x1.26 @0.35 x 126
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36 x 53 = 1908 = ©]-8-5to], Al4to] = 44

7RIy

D 36 x0.53 = 1.908
@36 x 0.053 = 1.908

® 0.0036 x 53 = 0.01908

o

A
A

rlo

@ 0.36 x 53 = 1.908

@ 360 % 5.3 =190.8

P

rlo

Ir
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@ 36 x 0.53 = 19.08
@ 0.36 x 53 = 19.08
@ 360 x 5.3 = 1908
® 0.0036 x 53 = 0.1908
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A 401 Aol e 0.75L A=) S-%2F 0.6sL AR
MU 09 @ & Fet Aol gol W2y &
B ¥ 117 T840,

=
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[> ®gh: 429L

9 92 30 ¢7HA] AHYT
0.75 % 30 + 0.68 x 30 = 22.5 + 20.4 = 42.9(L)




7. 328x14=4592¥ ] EH AL I2A| Q.

D 328 x 1.4 =459.2 @32.8 x 0.14 = 45.92
@ 328 x 0.14 = 45.92 @ 3.28x1.4=4592

® 3.28 x 14 = 45.92

B

327 x 4 = 4592
1
O]:]ﬁ a5ty
@ FRl 1555 7]

1 1
398 X 14 X —— = 4502 X ——
x 14> T000 = 92> 1000

32.8 X 0.14 = 4.592
45.92 — 4.592
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295 x 180 = 53100 Y2 <&
[ ]ere] 71 B & AL oj= AU

@ 29.5x[ | =53100
@ 2.95x| |=531

@D x 18 = 5.31
® [ |x0.18=531
® [ ]x0.18 =531

~&B

295 x 180 = 53100

oFH] 1 235
© e 10000 = 1

1 1
2 1 =531
95 x 180 x 10000 53100 x 10000

0.295 x 18 = 5.31
[ ]=0295

[ —— _
@ e - EwE F, 10557

1 1
295X180XEX1O:53100X EXIO
29.5 x 1800 = 53100

[ ]=1800

oFH] _:'_5
® FH T 171

1 1
2 1 — =531 —
95 x 180 x 1000 53100 x 1000

295 x 0.18 = 53.1
[ ]=295

@ ol - Fat]

1 1
295 X 180 X — = 53100 X —
95 x 180 100 53100 100

2.95 x 180 = 531

[ ]=180
© ol L B F, 105
1 1
205 X 180 X 750 % 10 = 53100 X 5 % 10

2950 x 0.18 = 531

[ ]=2950




9. oEe BI0.7= 1009 SF5HA & 100 A 2pe] o] sxbe At
AA] FsHA L.

0.7=0.7
0.7x0.7=10.49
0.7%x0.7x 0.7 =0.343
0.7x0.7x0.7%x 0.7 = 0.2401
0.7x0.7x0.7%x0.7x 0.7 = 0.16807

B ~
0.7 100 &34, &4 oF 2H] =5 1001 F5h= 20| B=
L F2 & ) 2] b U DR Al A 22
=AtE 74 %XMA =AU 0.7 3 WY 58 djupo
& 22 4 7 9, 3, 10] WhEsto] vE Y.

0.7 1009 HRZ 0 &5 2] A= 1 Y.
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AZg aLcee BAAREdUt QA 2R Yo

Tk 2

1 O

- O 5CIn =
o O N
1 1.72cm
1 O A
Lo~y 7em-~ &
cm?

(A B2 yol)-(MAstA] 42 HE9| Hol)
=(¥H 47cm, E°] 1.72cm ¢l FPAHAF Q] Hol) —(71=2
0.5cm, A2 1.72 cm Q1 2 AH2H 9] Ho])

(4.7x1.72) -

(0.5 x 1.72) = 7.224 cm?




